
Nombre: 　　　　　　　 Fecha: 　　　　　　 Puntuación: 　　　

Aritmética de exponentes (exponentes negativos)

4 + 1 = (−10) + 5 =(−1)

3 − (−7) =2 5 + 7 =(−2)

(−6) − 10 = 4 + 5 =2

2 + (−2) =2 (−5) − 2 =2

(−9) − 10 =(−2) (−1) − (−1) =(−1)

2 − (−8) =(−2) (−7) + 9 =

4 − 2 =(−1) (−2) − (−8) =2

(−3) + (−5) =2 (−10) + 5 =2

(−7) − 5 =2 (−3) + (−6) =(−2)

7 + (−7) =2 4 + (−1) =2
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Nombre: 　　　　　　　 Fecha: 　　　　　　 Puntuación: 　　　

Aritmética de exponentes (exponentes negativos)

4 + 1 = 5 (−10) + 5 = = 4(−1)

10
49

10
9

3 − (−7) = 162 5 + 7 = = 7(−2)

25
176

25
1

(−6) − 10 = (−16) 4 + 5 = 212

2 + (−2) = 22 (−5) − 2 = 232

(−9) − 10 = (− ) = (−9 )(−2)

81
809

81
80

(−1) − (−1) = 0(−1)

2 − (−8) = = 8(−2)

4
33

4
1

(−7) + 9 = 2

4 − 2 = (− ) = (−1 )(−1)

4
7

4
3

(−2) − (−8) = 122

(−3) + (−5) = 42 (−10) + 5 = 1052

(−7) − 5 = 442 (−3) + (−6) = (− ) = (−5 )(−2)

9
53

9
8

7 + (−7) = 422 4 + (−1) = 152
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